
MATH 123 Quadratic Equations II  
 
 
Solve the following equations, if possible.  Simplify your answers completely. 
 

23y 7y 20− =  
 
 
 

22y 13y 24+ =  
 
 
 

2n n 6 12− + =  
 
 
 

210x x 2 0− − =  
 
 
 

2y 9y 20 0− + =  
 
 
 

23y 11y 35 0− − =  
 
 
 

2x x 2 0+ − =  
 
 
 

225x 36 0− =  
 
 
 

23 19x 14x+ =  
 
 
 

260x 104x 28 0+ + =  
 
 
 

2

70 4925
x x

= −  

 
 
 

( )( )p 4 p 6 16+ − = −  
 
 

2y 4y 24 8+ − =  
 
 
 

29x 16 0− =  
 
 
 

22n 14n 24 0+ + =  
 
 
 

2p 1=  
 
 
 

27y 14y 56 0− − =  
 
 
 

2k 5k 6 0+ + =  
 
 
 

2x 2x 15+ =  
 
 
 

210x 18x 21 0+ + =  
 
 
 

24x 6x 28= +  
 
 
 

2

75 2136 0
x x

+ − =  

 
 
 

1 4x
3 3x

+ =  

 
 
 

21x 1 x 0
4

− − =  


